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(m) (m) (kN/ ) BB (m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/m)
; 100kN/ Mm% 825 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBAS -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
2 100kN/ Mm% #8225 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — -~ — — |3m%EBAS -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
3 100kN/ Mm% #8225 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBR5 -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
P 100kN/ Mm% #8225 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBAS -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
5 100kN/ Mm% 825 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBAS -~ — — —
zh st 1.001000 ~ 764 97.91 | #hist 000 ~ 764) 242 12.94 zh st 100|500 ~ 1110 97.91 | FhLst | 500 ~ 1110|242 12.94
6 100kN/ Mm% 825 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBA5 -~ — —
Tnst 1.00 | 000 ~ 723 91.97 | EhLst 000 ~ 723|178 9.52 Tnst 1.00 | 5.00 ~ 9.20 91.97 | Thst | 500 ~ 920|178 9.52
. 100kN/m##8z5%| 100|000 ~ 042 106.19 |3mE#BzZ| — ~ — — — | 100kN/M%#BZ5 | 1.00 | 1085 ~ 1200| 106.19 |3m%Ei#BZ5 -~ — — —
zh st 100]042 ~ 820 100.00| This |0.00 ~ 820|232 12.41 zh st 100|500 ~ 1085 100.00| Thist | 500 ~ 1200 2.32 12.41
g 100kN/m##8z5%| 100|000 ~ 015| 10219 |3mE#BzZ| — ~ — — — | 100kN/M%#BZ5 | 1.00 | 1090 ~ 1134 10219 |3m%Ei#BZ5 -~ — — —
zh st 1001015 ~ 793| 100.00| This | 000 ~ 793|206 11.04 ZhLls 100|500 ~ 1090 100.00| Thst | 500 ~ 1134| 2.06 11.04
9 100kN/mM#%# 25| 1.00 | 000 ~ 038 105.66 |3mZEBAB — ~ — — — | 100kN/m%&#z25 | 1.00 | 1122 ~ 1247 105.56 |3mEBZ5 -~ — — —
zh st 1.00]1038 ~ 816 100.00| This | 000 ~ 816|202 10.83 Zhls 100|500 ~ 1122 100.00| Thst | 500 ~ 1247| 2.02 10.83
10 100kN/ Mm% 823 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBZS -~ — — —
zh st 1001000 ~ 729 9292 | Fhst | 000 ~ 000|166 887 zh st 100|500 ~ 9.70 92.92 | EhLst | 500 ~ 9.70| 1.66 8.87
11 100kN/ Mm% #8225 — -~ = —|3mZE#BRB| — ~ - — | 100kN/m%#B% % — - ~ — — |3m%EBR5 -~ — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
12 100kN/ Mm% #8225 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBAS -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | #hust — ~ — — —
13 100kN/ Mm% 82 3 — -~ = —|3mZE#BRB| — ~ - — — | 100kN/m%#B% % — - ~ — — |3m%EBZS -~ — — —
zh st — -~ — — | #hust -~ — — — zh st — — ~ — — | =hust — ~ — — —
14 100kN/m##25 | 1.00 | 000 ~ 084 112.57 |3mZE#BAE| — ~ — — | 100kN/M%#BZ5 | 1.00 | 1066 ~ 1330| 11257 |3mZEi#BZ5 -~ — — —
zh st 1001084 ~ 863| 100.00| This |0.00 ~ 863|211 11.30 zh st 100|500 ~ 1066| 100.00| Thst | 500 ~ 1330|211 11.30
15 100kN/m#%#25 | 1.00 | 000 ~ 0.09 101.36 |3m%E#BRBl — ~ — — — | 100kN/mZ#Bz5| 1.00 | 1242 ~ 1270 101.36 |3mZEBZ3 -~ — — —
%% 1001009 ~ 788 100.00 | #hilst 000 ~ 7858|2561 13.46 st 100|500 ~ 1242 100.00 | ThUs | 5.00 ~ 1270| 2.51 13.46




